### Research Article

## **Remarks on Sum of Products of** (*h*, *q*)**-Twisted Euler Polynomials and Numbers**

#### Hacer Ozden,<sup>1</sup> Ismail Naci Cangul,<sup>1</sup> and Yilmaz Simsek<sup>2</sup>

<sup>1</sup> Department of Mathematics, Faculty of Arts and Science, University of Uludag, 16059 Bursa, Turkey <sup>2</sup> Department of Mathematics, Faculty of Arts and Science, University of Akdeniz, 07058 Antalya, Turkey

Correspondence should be addressed to Hacer Ozden, hozden@uludag.edu.tr

Received 29 March 2007; Accepted 16 October 2007

Recommended by Panayiotis D. Siafarikas

The main purpose of this paper is to construct generating functions of higher-order twisted (h, q)extension of Euler polynomials and numbers, by using *p*-adic, *q*-deformed fermionic integral on  $\mathbb{Z}_p$ . By applying these generating functions, we prove complete sums of products of the twisted (h, q)extension of Euler polynomials and numbers. We also define some identities involving twisted (h, q)-extension of Euler polynomials and numbers.

Copyright © 2008 Hacer Ozden et al. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

#### 1. Introduction, definitions, and notations

Higher-order twisted Bernoulli and Euler numbers and polynomials were studied by many authors (see for details [1–10]). In [1, 3], Kim constructed *p*-adic, *q*-Volkenborn integral identities. He proved *p*-adic, *q*-integral representation of *q*-Euler and Bernoulli numbers and polynomials. In [11], the second author constructed a new approach to the complete sums of products of (*h*, *q*)-extension of higher-order Euler polynomials and numbers. Kim and Rim [12], by using *q*-deformed fermionic integral on  $\mathbb{Z}_p$ , defined twisted generating functions of the *q*-Euler numbers and polynomials, respectively. By using these functions, they also constructed interpolation functions of these numbers and polynomials.

By the same motivation of the above studies, in this paper, we construct a new approach to the complete sums of products of twisted (h, q)-extension of Euler polynomials and numbers.

Throughout this paper,  $\mathbb{Z}$ ,  $\mathbb{Z}^+$ ,  $\mathbb{Z}_p$ ,  $\mathbb{Q}_p$ , and  $\mathbb{C}_p$  will denote the ring of rational integers, the set of positive integers, the ring of *p*-adic integers, the field of *p*-adic rational numbers, and the completion of the algebraic closure of  $\mathbb{Q}_p$ , respectively. Let  $v_p$  be the normalized exponential

valuation of  $\mathbb{C}_p$  with  $|p|_p = p^{-v_p(p)} = p^{-1}$ . Here, q is variously considered as an indeterminate, a complex number  $q \in \mathbb{C}$ , or p-adic number  $q \in \mathbb{C}_p$ . If  $q \in \mathbb{C}_p$ , then we assume that  $|q - 1|_p < p^{-1/(p-1)}$ , so that  $q^x = \exp(x \log q)$  for  $|x|_p \leq 1$ . If  $q \in \mathbb{C}$ , then we assume that |q| < 1 (cf. [1, 3, 4, 9]).

We use the following notations:

$$[x]_q = \frac{1 - q^x}{1 - q}, \qquad [x]_{-q} = \frac{1 - (-q)^x}{1 + q}.$$
(1.1)

Note that  $\lim_{q \to 1} [x]_q = x$ .

Let  $UD(\mathbb{Z}_p)$  be the set of uniformly differentiable functions on  $\mathbb{Z}_p$ . Let  $f \in UD(\mathbb{Z}_p, \mathbb{C}_p)$ = { $f | f : \mathbb{Z}_p \to \mathbb{C}_p$  is uniformly differentiable function}. For  $f \in UD(\mathbb{Z}_p, \mathbb{C}_p)$ , let

$$\frac{1}{[p^N]_q} \sum_{x=0}^{p^{N-1}} f(x) q^x = \sum_{x=0}^{p^{N-1}} f(x) \mu_q \left( a + dp^N \mathbb{Z}_p \right)$$
(1.2)

representing the *q*-analogue of the Riemann sums for *f*. The integral of *f* on  $\mathbb{Z}_p$  is defined as the limit  $(N \to \infty)$  of the above sums when it exists. Thus, Kim [1, 3] defined the *p*-adic invariant *q*-integral on  $\mathbb{Z}_p$  as follows:

$$I_q(f) = \int_{\mathbb{Z}_p} f(x) d\mu_q(x) = \lim_{N \to \infty} \frac{1}{[p^N]_q} \sum_{x=0}^{p^N - 1} f(x) q^x,$$
(1.3)

where

$$\mu_q \left( a + dp^N \mathbb{Z}_p \right) = \frac{q^a}{\left[ dp^N \right]_q}, \quad N \in \mathbb{Z}^+.$$
(1.4)

Note that if  $f \in UD(\mathbb{Z}_p, \mathbb{C}_p)$ , then

$$\left| \int_{\mathbb{Z}_p} f(x) d\mu_q(x) \right|_p \le p \|f\|_{1}, \tag{1.5}$$

where

$$||f||_{1} = \sup\left\{ \left| f(0) \right|_{p}, \sup_{x \neq y} \left| \frac{f(x) - f(y)}{x - y} \right|_{p} \right\} \quad (\text{cf. [3]}).$$
(1.6)

The bosonic integral was considered from a physical point of view to the bosonic limit  $q \rightarrow 1$ ,  $I_1(f) = \lim_{q \rightarrow 1} I_q(f)$  (cf. [1, 3, 4, 12]). By using the *q*-bosonic integral on  $\mathbb{Z}_p$ , not only generating functions of the Bernoulli numbers and polynomials are constructed but also Witt-type formula of these numbers and polynomials are defined (cf. for detail [1, 9, 10, 13, 14]).

The fermionic integral, which is called the *q*-deformed fermionic integral on  $\mathbb{Z}_p$ , is defined by

$$I_{-q}(f) = \lim_{q \to -q} I_q(f) = \int_{\mathbb{Z}_p} f(x) d\mu_{-q}(x),$$
(1.7)

Hacer Ozden et al.

where

$$\mu_{-q}(a+dp^N\mathbb{Z}_p) = \frac{(-q)^a}{[dp^N]_{-q}}, \quad N \in \mathbb{Z}^+ \quad (\text{cf. } [3,4,6,12]).$$
(1.8)

In view of the notation  $I_{-1}$  is written symbolically by

$$I_{-1}(f) = \lim_{q \to -1} I_q(f).$$
(1.9)

By using *q*-deformed fermionic integral on  $\mathbb{Z}_p$ , generating functions of the Euler numbers and polynomials, Genocchi numbers and polynomials, and Frobenius-Euler numbers and polynomials are constructed (cf. for detail [1, 3, 6–8, 10–12, 15]).

The main motivation of this paper is to construct generating functions of higher-order twisted (h, q)-extension of Euler polynomials and numbers by using *q*-deformed fernionic integral on  $\mathbb{Z}_p$ . Moreover, by this integral, we also define Witt-type formula of the higher-order twisted (h, q)-extension of Euler polynomials and numbers. By applying these generating functions and *q*-deformed fernionic integral, we obtain complete sums of products of the twisted (h, q)-extension of Euler polynomials and numbers as well.

The twisted (h, q)-Bernoulli and Euler numbers and polynomials have been studied by several authors (cf. [5, 8, 9, 11, 15–17]).

In [3, 6], Kim defined the following integral equation: for  $f_1(x) = f(x + 1)$ ,

$$I_{-1}(f_1) + I_{-1}(f) = 2f(0).$$
(1.10)

Let

$$T_p = \bigcup_{n \ge 1} C_{p^n} = \lim_{n \to \infty} C_{p^n}, \tag{1.11}$$

where  $C_{p^n} = \{w \mid w^{p^n} = 1\}$  is the cyclic group of order  $p^n$ . For  $w \in T_p$ ,  $\phi_w : \mathbb{Z}_p \to \mathbb{C}_p$  is the locally constant function  $x \to w^x$  (cf. [9, 14, 16]).

Ozden and Simsek [7] defined new (h, q)-extension of Euler numbers and polynomials. In [15], Ozden et al. also defined twisted (h, q)-extension of Euler polynomials,  $E_{n,w}^{(h)}(x, q)$ , as follows:

$$F_{w,q}^{(h)}(t,x) = F_{w,q}^{(h)}(t)e^{tx} = \frac{2e^{tx}}{wq^{h}e^{t}+1} = \sum_{n=0}^{\infty} E_{n,w}^{(h)}(x,q)\frac{t^{n}}{n!}.$$
(1.12)

Note that if  $w \to 1$ , then  $E_{n,w}^{(h)}(q) \to E_n^{(h)}(q)$  and

$$F_{w,q}^{(h)}(t) \longrightarrow F_q^{(h)}(t) = \frac{2}{q^h e^t + 1}$$
 (1.13)

(cf. [7]). If  $q \rightarrow 1$ , then

$$F_q^{(h)}(t) \longrightarrow F(t) = \frac{2}{e^t + 1} = \sum_{n=1}^{\infty} E_n \frac{t^n}{n!}$$
 (1.14)

where  $E_n$  is usual Euler numbers (cf. [3, 8, 10]).

For x = 0, we have

$$F_q^{(h)}(t) = \frac{2}{wq^h e^t + 1} = \sum_{n=0}^{\infty} E_{n,w}^{(h)}(q) \frac{t^n}{n!} \quad \text{(cf. [7])}.$$
(1.15)

Journal of Inequalities and Applications

**Theorem 1.1** ([15] Witt formula). For  $h \in \mathbb{Z}$ ,  $q \in \mathbb{C}_p$  with  $|1 - q|_p < p^{-1/(p-1)}$ ,

$$\int_{\mathbb{Z}_p} q^{hx} w^n x^n d\mu_{-1}(x) = E_{n,w}^{(h)}(q), \qquad (1.16)$$

$$\int_{\mathbb{Z}_p} q^{hy} (x+y)^n d\mu_{-1}(y) = E_{n,w}^{(h)}(x,q).$$
(1.17)

#### 2. Higher-order twisted (*h*, *q*)-Euler polynomials and numbers

Here, we study on higher-order twisted (h, q)-Euler polynomials and numbers and complete sums of products of these polynomials and numbers, our method is similar to that of [11]. For constructions of them, we use multiple the *q*-deformed fermionic integral on  $\mathbb{Z}_p$ :

$$\underbrace{\int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (wq^h)^{\sum_{j=1}^v x_j} \exp\left(t \sum_{j=1}^v x_j\right) \prod_{j=1}^v d\mu_{-1}(x_j) = \sum_{n=0}^\infty E_{n,w}^{(h,v)}(q) \frac{t^n}{n!},$$
(2.1)

where  $\prod_{j=1}^{v} d\mu_{-1}(x_j) = d\mu_{-1}(x_1)d\mu_{-1}(x_2)\cdots d\mu_{-1}(x_v)$ . By using the above equation, we easily have

$$\sum_{n=0}^{\infty} \left( \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (wq^h)^{\sum_{j=1}^v x_j} \left( \sum_{j=1}^v x_j \right)^n \prod_{j=1}^v d\mu_{-1}(x_j) \right) \frac{t^n}{n!} = \sum_{n=0}^{\infty} E_{n,w}^{(h,v)}(q) \frac{t^n}{n!}.$$
 (2.2)

By comparing coefficients of  $t^n/n!$  in the above equation, we have the following theorem.

**Theorem 2.1.** For positive integers n, v, and  $h \in \mathbb{Z}$ , then

$$E_{n,w}^{(h,v)}(q) = \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (wq^h)^{\sum_{j=1}^v x_j} \left(\sum_{j=1}^v x_j\right)^n \prod_{j=1}^v d\mu_{-1}(x_j).$$
(2.3)

By (2.1), twisted (h, q)-Euler numbers of higher-order,  $E_{n,w}^{(h,v)}(q)$ , are defined by means of the following generating function:

$$\left(\frac{2}{wq^{h}e^{t}+1}\right)^{v} = \sum_{n=0}^{\infty} E_{n,w}^{(h,v)}(q) \frac{t^{n}}{n!}.$$
(2.4)

Observe that for v = 1, the above equation reduces to (1.15):

$$\underbrace{\int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (wq^h)^{\sum_{j=1}^v x_j} \exp\left(tz + \sum_{j=1}^v tx_j\right) \prod_{j=1}^v d\mu_{-1}(x_j) = \sum_{n=0}^\infty E_{n,w}^{(h,v)}(z,q) \frac{t^n}{n!}.$$
 (2.5)

By using Taylor series of  $\exp(tx)$  in the above equation, we have

$$\sum_{n=0}^{\infty} \left( \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (wq^h)^{\sum_{j=1}^v x_j} \left( z + \sum_{j=1}^v x_j \right)^n \prod_{j=1}^v d\mu_{-1}(x_j) \right) \frac{t^n}{n!} = \sum_{n=0}^{\infty} E_{n,w}^{(h,v)}(z,q) \frac{t^n}{n!}.$$
 (2.6)

By comparing coefficients of  $t^n/n!$  in the above equation, we arrive at the following theorem.

Hacer Ozden et al.

**Theorem 2.2** (Witt-type formula). *For*  $z \in \mathbb{C}_p$  *and positive integers* n*,* v*, and*  $h \in \mathbb{Z}$  *, then* 

$$E_{n,w}^{(h,v)}(z,q) = \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (q^h w)^{\sum_{j=1}^v x_j} \left( z + \sum_{j=1}^v x_j \right)^n \prod_{j=1}^v d\mu_{-1}(x_j).$$
(2.7)

By (2.1), (h, q)-Euler polynomials of higher-order,  $E_{n,q}^{(h,v)}(z)$ , are defined by means of the following generating function:

$$F_{q,w}^{(h,v)}(z,t) = e^{tz} \left(\frac{2}{wq^h e^t + 1}\right)^v = \sum_{n=0}^\infty E_{n,w}^{(h,v)}(z,q) \frac{t^n}{n!}.$$
(2.8)

Note that when v = 1, then we have (1.12); when  $q \rightarrow 1$  and  $w \rightarrow 1$ , then we have

$$F^{(v)}(z,t) = e^{tz} \left(\frac{2}{e^t + 1}\right)^v = \sum_{n=0}^{\infty} E_n^{(v)}(z) \frac{t^n}{n!},$$
(2.9)

where  $E_n^{(v)}(z)$  denote classical higher-order Euler polynomials (cf. [10]).

**Theorem 2.3.** For  $z \in \mathbb{C}_p$  and positive integers n, v, and  $h \in \mathbb{Z}$ , then

$$E_{n,w}^{(h,v)}(z,q) = \sum_{l=0}^{n} {\binom{n}{l}} z^{n-l} E_{l,w}^{(h,v)}(q).$$
(2.10)

*Proof.* By using binomial expansion in (2.7), we have

$$E_{n,w}^{(h,v)}(z,q) = \sum_{l=0}^{n} \binom{n}{l} z^{n-l} \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} (q^h w)^{\sum_{j=1}^{v} x_j} \left(\sum_{j=1}^{v} x_j\right)^l \prod_{j=1}^{v} d\mu_{-1}(x_j).$$
(2.11)

By (2.3) in the above, we arrive at the desired result.

*Remark* 2.4. If 
$$w \to 1$$
, then  $E_{n,w}^{(h,v)}(q) \to E_n^{(h,v)}(q)$  (cf. [11]). If  $q \to 1$ ,  $v = 1$ , then  $E_{n,w}^{(h,v)}(q) \to E_n$ , where  $E_{n,w}^{(v)}$  is usual twisted Euler numbers (cf. [10]).

# **3.** The complete sums of products of (*h*, *q*)-extension of Euler polynomials and numbers

In this section, we prove main theorems related to the complete sums of products of (h, q)extension of Euler polynomials and numbers. Firstly, we need the multinomial theorem, which
is given as follows (cf. [18, 19]).

Theorem 3.1 (multinomial theorem). Let

$$\left(\sum_{j=1}^{v} x_{j}\right)^{n} = \sum_{\substack{l_{1},l_{2},\dots,l_{v} \geq 0\\l_{1}+l_{2}+\dots+l_{v}=n}} \binom{n}{l_{1},l_{2},\dots,l_{v}} \prod_{a=1}^{v} x_{a}^{l_{a}},$$
(3.1)

where  $\binom{n}{l_1,l_2,..,l_v}$  are the multinomial coefficients, which are defined by  $\binom{n}{l_1,l_2,..,l_v} = \frac{n!}{l_1!l_2!\cdots l_v!}$ .

#### Journal of Inequalities and Applications

**Theorem 3.2.** For positive integers n, v, then

$$E_{n,w}^{(h,v)}(q) = \sum_{\substack{l_1,l_2,\dots,l_v \ge 0\\l_1+l_2+\dots+l_v=n}} \binom{n}{l_1,l_2,\dots,l_v} \prod_{j=1}^v E_{l_j,w}^{(h)}(q),$$
(3.2)

where  $\binom{n}{l_1, l_2, \dots, l_v}$  is the multinomial coefficient.

Proof. By using Theorem 3.1 in (2.3), we have

$$E_{n,w}^{(h,v)}(q) = \sum_{\substack{l_1,l_2,\dots,l_v \ge 0\\l_1+l_2+\dots+l_v=n}} \binom{n}{l_1,l_2,\dots,l_v} \prod_{j=1}^v \int_{\mathbb{Z}_p} (wq^h)^{x_j} x_j^{l_j} d\mu_{-1}(x_j).$$
(3.3)

By (1.16) in the above, we obtain the desired result.

By substituting (3.2) into (2.10), we have the following corollary.

**Corollary 3.3.** For  $z \in \mathbb{C}_p$  and positive integers n, v, then

$$E_{n,w}^{(h,v)}(z,q) = \sum_{m=0}^{n} \sum_{\substack{l_1,l_2,\dots,l_v \ge 0\\ l_1+l_2+\dots+l_v=m}} \binom{n}{m} \binom{m}{l_1,l_2,\dots,l_v} z^{n-m} \prod_{j=1}^{v} E_{l_j,xv}^{(h)}(q).$$
(3.4)

Complete sum of products of the twisted (h,q)-Euler polynomials is given by the following theorem.

**Theorem 3.4.** For  $y_1, y_2, \ldots, y_v \in \mathbb{C}_p$  and positive integers n, v, then

$$E_{n,w}^{(h,v)}(y_1 + y_2 + \dots + y_v, q) = \sum_{\substack{l_1, l_2, \dots, l_v \ge 0\\l_1 + l_2 + \dots + l_v = n}} \binom{n}{l_1, l_2, \dots, l_v} \prod_{j=1}^v E_{l_j, w}^{(h)}(y_j, q).$$
(3.5)

*Proof.* By substituting  $z = y_1 + y_2 + \cdots + y_v$  into (2.7), we have

$$E_{n,w}^{(h,v)}(y_1 + y_2 + \dots + y_v, q) = \int_{\mathbb{Z}_p} \dots \int_{\mathbb{Z}_p} (wq^h)^{\sum_{j=1}^v x_j} \left(\sum_{j=1}^v (y_j + x_j)\right)^n \prod_{j=1}^v d\mu_{-1}(x_j).$$
(3.6)

By using Theorem 3.1 in the above, and after some elementary calculations, we get

$$E_{n,w}^{(h,v)}(y_1 + y_2 + \dots + y_v, q) = \sum_{\substack{l_1, l_2, \dots, l_v \ge 0\\l_1 + l_2 + \dots + l_v = n}} \binom{n}{l_1, l_2, \dots, l_v} \prod_{j=1}^v \int_{\mathbb{Z}_p} (wq^h)^{x_j} (y_j + x_j)^{l_j} d\mu_{-1}(x_j).$$
(3.7)

By substituting (1.17) into the above, we arrive at the desired result.

Hacer Ozden et al.

*Remark* 3.5. If we take  $y_1 = y_2 = \cdots = y_v = 0$  in Theorem 3.4, then Theorem 3.4 reduces to Theorem 3.2. Substituting  $q \to 1$  and  $w \to 1$  into (3.5), we obtain the following relation:

$$E_n^{(v)}(y_1 + y_2 + \dots + y_v) = \sum_{\substack{l_1, l_2, \dots, l_v \ge 0\\ l_1 + l_2 + \dots + l_v = m}} \binom{m}{l_1, l_2, \dots, l_v} \prod_{j=1}^v E_{l_j}(y_j) \quad (\text{cf. [11]}).$$
(3.8)

I.-C. Huang and S.-Y. Huang [20] found complete sums of products of Bernoulli polynomials. Kim [13] defined Carlitz's *q*-Bernoulli number of higher order using an integral by the *q*-analogue  $\mu_q$  of the ordinary *p*-adic invariant measure. He gave a different proof of complete sums of products of higher order *q*-Bernoulli polynomials. In [21], Jang et al. gave complete sums of products of Bernoulli polynomials and Frobenious Euler polynomials. In [14], Simsek et al. gave complete sums of products of *(h, q)*-Bernoulli polynomials and numbers.

**Theorem 3.6.** Let  $n \in \mathbb{Z}^+$ . Then

$$E_{n,w}^{(h,v)}(z+y,q) = \sum_{l=0}^{n} {\binom{n}{l}} E_{l,w}^{(h,v)}(y,q) z^{n-l}.$$
(3.9)

Proof. Assume

$$E_{n,w}^{(h,v)}(z+y,q) = \left(E_w^{(h,v)}(q) + z + y\right)^n$$
  
=  $\sum_{l=0}^n \binom{n}{l} E_{l,w}^{(h,v)}(q)(y+z)^{n-l}$  (3.10)

with usual convention of symbolically replacing  $E_w^{l(h,v)}$  by  $E_{l,w}^{(h,v)}(q)$ . By using (2.10) in the above, we have

$$E_{n,w}^{(h,v)}(z+y,q) = \sum_{m=0}^{n} \binom{n}{m} E_{m,w}^{(h,v)}(y,q) z^{n-m}.$$
(3.11)

Thus the proof is completed.

From Theorems 3.4 and 3.6, after some elementary calculations, we arrive at the following interesting result.

**Corollary 3.7.** *Let*  $n \in \mathbb{Z}^+$ *. Then* 

$$\sum_{m=0}^{n} \binom{n}{m} E_{m,w}^{(h,v)}(y_1,q) y_2^{n-m} = \sum_{\substack{l_1,l_2 \ge 0\\l_1+l_2=n}} \binom{n}{l_1,l_2} E_{l_1,w}^{(h)}(y_1,q) B_{l_2,w}^{(h)}(y_2,q).$$
(3.12)

#### Acknowledgments

The first and second authors are supported by the research fund of Uludag University Project no. F-2006/40 and F-2008/31. The third author is supported by the research fund of Akdeniz University.

#### References

- T. Kim, "q-Volkenborn integration," Russian Journal of Mathematical Physics, vol. 9, no. 3, pp. 288–299, 2002.
- [2] T. Kim, "A new approach to q-zeta function," Advanced Studies in Contemporary Mathematics, vol. 11, no. 2, pp. 157–162, 2005.
- [3] T. Kim, "On the analogs of Euler numbers and polynomials associated with *p*-adic *q*-integral on  $\mathbb{Z}_p$  at q = -1," *Journal of Mathematical Analysis and Applications*, vol. 331, no. 2, pp. 779–792, 2007.
- [4] T. Kim, "On the *q*-extension of Euler and Genocchi numbers," *Journal of Mathematical Analysis and Applications*, vol. 326, no. 2, pp. 1458–1465, 2007.
- [5] T. Kim, "q-Euler numbers and polynomials associated with p-adic q-integrals," Journal of Nonlinear Mathematical Physics, vol. 14, no. 1, pp. 15–27, 2007.
- [6] T. Kim, "An invariant p-adic q-integral on Z<sub>p</sub>," Applied Mathematics Letters, vol. 21, no. 2, pp. 105–108, 2008.
- [7] H. Ozden and Y. Simsek, "A new extension of *q*-Euler numbers and polynomials related to their interpolation functions," to appear in *Applied Mathematics Letters*.
- [8] Y. Simsek, "q-analogue of twisted I-series and q-twisted Euler numbers," Journal of Number Theory, vol. 110, no. 2, pp. 267–278, 2005.
- [9] Y. Simsek, "Twisted (h, q)-Bernoulli numbers and polynomials related to twisted (h, q)-zeta function and L-function," Journal of Mathematical Analysis and Applications, vol. 324, no. 2, pp. 790–804, 2006.
- [10] H. M. Srivastava, T. Kim, and Y. Simsek, "q-Bernoulli numbers and polynomials associated with multiple q-zeta functions and basic L-series," *Russian Journal of Mathematical Physics*, vol. 12, no. 2, pp. 241–268, 2005.
- [11] Y. Simsek, "Complete sum of products of (*h*, *q*)-extension of the Euler Polynomials and numbers," preprint, 2007, http://arxiv.org/abs/0707.2849v1.
- [12] T. Kim and S.-H. Rim, "On the twisted *q*-Euler numbers and polynomials associated with basic *q l*-functions," *Journal of Mathematical Analysis and Applications*, vol. 336, no. 1, pp. 738–744, 2007.
- [13] T. Kim, "Sums of products of q-Bernoulli numbers," Archiv der Mathematik, vol. 76, no. 3, pp. 190–195, 2001.
- [14] Y. Simsek, V. Kurt, and D. Kim, "New approach to the complete sum of products of the twisted (*h*, *q*)-Bernoulli numbers and polynomials," *Journal of Nonlinear Mathematical Physics*, vol. 14, no. 1, pp. 44– 56, 2007.
- [15] H. Ozden, I. N. Cangul, and Y. Simsek, "Generating functions of the (*h*, *q*)-extension of Euler polynomials and numbers," to appear in *Acta Mathematica Hungarica*.
- [16] T. Kim, L. C. Jang, S.-H. Rim, and H.-K. Pak, "On the twisted q-zeta functions and q-Bernoulli polynomials," Far East Journal of Applied Mathematics, vol. 13, no. 1, pp. 13–21, 2003.
- [17] L. C. Jang, H. K. Pak, S.-H. Rim, and D.-W. Park, "A note on analogue of Euler and Bernoulli numbers," *JP Journal of Algebra, Number Theory and Applications*, vol. 3, no. 3, pp. 461–469, 2003.
- [18] L. Comtet, Advanced Combinatorics: The Art of Finite and Infinite Expansions, D. Reidel, Dordrecht, The Netherlands, 1974.
- [19] R. L. Graham, D. E. Knuth, and O. Patashnik, Concrete Mathematics. A Foundation for Computer Science, Addison-Wesley, Reading, Mass, USA, 1989.
- [20] I.-C. Huang and S.-Y. Huang, "Bernoulli numbers and polynomials via residues," *Journal of Number Theory*, vol. 76, no. 2, pp. 178–193, 1999.
- [21] L.-C. Jang, S.-D. Kim, D.-W. Park, and Y.-S. Ro, "A note on Euler number and polynomials," *Journal of Inequalities and Applications*, vol. 2006, Article ID 34602, 5 pages, 2006.